
400 

ld=ld=
ljxfg 5M00 b]vL 10M00 ah]

-If]qkf6L÷dxf/fhu+h zfvf_ ag:ynL,P/flx6L, 9'Ë]wf/f ,  e[s'6L 6f]n 

;fgf] e–ofË,erf6}+sL,km's]{;Nnf,ljhoZj/L,9Ns' .

3 6 9 12 15 18 21 24 27  @ lbg la/fP/

200 

ld=ld=
ljxfg 5M00 b]vL 8M00 ah] -dxf/fhu+h÷If]qkf6L zfvf_ rdlt . 3 6 9 12 15 18 21 24 27  @ lbg la/fP/

kfgL kf]v/L eg]{ 3 6 9 12 15 18 21 24 27  @ lbg la/fP/

400 

ld=ld=
lbp½;f] 14M00-2M00_ b]vL a]n'sf 18M00-6M00_ ah]

 -If]qkf6L zfvf_           8Nn' cfjf;,rdtL,tfD;L 

kfvf,nvlty{,l9Dx]Nxf] t'n;Lwf/f cfbL If]qx? .

3 6 9 12 15 18 21 24 27  @ lbg la/fP/

200 

ld=ld=
a]n'sf 18M00-6M00_ b]vL /ftL 22M00-10M00_ ah] - dxf/fhu+h zfvf _           ;fOafaf If]q,af]x/f6f/ xfO6 3 6 9 12 15 18 21 24 27  @ lbg la/fP/

kfgL kf]v/L eg]{ 3 6 9 12 15 18 21 24 27  @ lbg la/fP/

400 

ld=ld=
ljxfg 3M00 b]vL 6M00 ah]   -If]qkf6L zfvf_      a|h Kofkm] 5fpgL,lsd8f] xfO{6 cfbL If]qx? . 4 7 10 13 16 19 22 25 28  @ lbg la/fP/

400 

ld=ld=
ljxfg 6M00 b]vL 11M00 ah] - lqk'/]Zj/ zfvf _           afkmn,ufO{afR5f kf6L,tfxfrn cfbL If]q 4 7 10 13 16 19 22 25 28  @ lbg la/fP/

160 

ld=ld=
ljxfg 6M00 b]vL 9M00 ah] - dxf/fhu+h zfvf _          sf=d=kf=!^ 6f}8f]n 4 7 10 13 16 19 22 25 28  @ lbg la/fP/

kfgL kf]v/L eg]{ 4 7 10 13 16 19 22 25 28  @ lbg la/fP/

400 

ld=ld=
a]n'sf 14M00-2M00_ b]vL 18M00 ah] - lqk'/]Zj/ zfvf _           afkmn,ufO{afR5f kf6L,tfxfrn cfbL If]q 4 7 10 13 16 19 22 25 28  @ lbg la/fP/

300 

ld=ld=
a]n'sf 18M00-6M00_ ah] b]vL /ftL 22M00-10M00_ ah] ;Dd  - dxf/fhu+h zfvf _ g]kfn6f/ 4 7 10 13 16 19 22 25 28  @ lbg la/fP/

200 

ld=ld=
a]n'sf 19M00-7M00_ b]vL    /ftL 22M00-10M00_ ah] - dxf/fhu+h zfvf _    ag:ynL  kfj/xfp;  cfbL If]qx? 4 7 10 13 16 19 22 25 28  @ lbg la/fP/

kfgL kf]v/L eg]{ 4 7 10 13 16 19 22 25 28  @ lbg la/fP/

400 

ld=ld=
ljxfg 5M00 b]vL 8M00 ah] - dxf/fhu+h zfvf _           gofahf/ If]q 5 8 11 14 17 20 23 26 29  @ lbg la/fP/

kfgL kf]v/L eg]{ 5 8 11 14 17 20 23 26 29  @ lbg la/fP/

200 

ld=ld=
ljxfg 11M00 b]vL 14M00 ah] - dxf/fhu+h zfvf _          af]xf]/f6f/ xfO6 If]q 5 8 11 14 17 20 23 26 29  @ lbg la/fP/

200 

ld=ld=
lbp½;f] 14M00-2M00_ b]vL   a]n'sf 17M00-5M00_ ah] /fgLag gfl;9f]sf If]q 5 8 11 14 17 20 23 26 29  @ lbg la/fP/

200 

ld=ld=
a]n'sf 14M00-2M00_ b]vL a]n'sf 17M00-5M00_ ah] - dxf/fhu+h zfvf _           Dx}kL If]q 5 8 11 14 17 20 23 26 29  @ lbg la/fP/

300 

ld=ld=
a]n'sf 17M00-5M00_ ah] b]vL /ftL 22M00-10M00_ ah] ;Dd

- dxf/fhu+h zfvf _         8f8f ufp,dxfb]jvf]nf,u'0f:t/,u+ufxn, 

afOkf; cfbL If]qx?

5 8 11 14 17 20 23 26 29  @ lbg la/fP/

kfgL kf]v/L eg]{ 5 8 11 14 17 20 23 26 29  @ lbg la/fP/

gf]^M lj:t[t hfgsf/Lsf] nflu ;DalGwt zfvf sfof{nodf tyf yk hfgsf/Lsf] nfuL kf]v/L O{Grfh{ >L /fhg af]x/f-9841812192_nfO{ ;Dks{ /fVg'x'g cg'/f]w %.

3 t]>f]

ljxfg 8M00 b]vL  11M00 ah]

/ftL 22M00-10M00_ah] b]vL  ljxfg 5M00 ah] ;Dd  

1 klxnf]
ljxfg 10M00 b]vL lbp ½;f] 14M00-2M00_ ah]

/ftL 22M00-10M00_ah] b]vL  ljxfg 3M00 ah] ;Dd  

2 bf]>f]
ljxfg 11M00 b]vL lbp ½;f] 14M00-2M00_ ah]

/ftL 22M00-10M00_ah] b]vL  ljxfg 5M00 ah] ;Dd  

sf&df)*f} pkTosf vfg]kfgL lnld^]*

If]qkf6L zfvf÷dxf/fhu+h zfvf÷lqk'/]Zj/ zfvf

afnfh' kfgL kf]v/L ljt/0f k|0ffnLaf6 ldlt @)*) df3 dlxgfdf lat/0f x'g] kfgLsf] tflnsf

l;=g++ kfnf]
kfOksf] 

;fO{h
;do kfgL lat/)f x'g] If]qx? 2080 df# कैफियत 


